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State Forest Service Examination - 2014
(Provisional Model Answer Key)

Zoology

Q1 Which of the following is not found in Prokaryotic cell ?
ArT A A HIT T IR AT H AGT IRATSAATE ?

Cytoplasm

FIfAPIgeT

Plasma-membrane

CATSHT- STeall

Ribosome

SECIRIE]

Mitochondria / Chondriosome

-

Answer Key: D

Q2 The Plasma membrane is a "Mosaic" of :

CTATGAT STooll "AlSTE" &

Phospolipids & waxes

BRERITAISH T AT

Waxes & Polysaccharides

A Td ATelHSRISSH (SEUFRT)

Polysaccharides & Proteins

STARRRIESH (@R v e

Proteins & Phospholipids

P orw oo wiemtafiga

Answer Key: D

Q3 Without which of the following anaerobic respiration is not possible ?

T 7 O foraat foar sarafaa HIfAer (a8 9T 8T &




Sodium

ofsas

Oxygen

3frrdisteT

Lactate

e

All options are correct

Dl ot e a2

Answer Key: B

Q4 Elephantiasis disease is due to:

BT 9T 39T gIdT & -

Entameoba

Tsle 37fAeT

Trypanosoma

[ IEsIEs]

X

Liver fluke

faa wh

Filaria worm

D

Re R 8

Answer Key: D

Q5 What is synthesized by nucleolus ?
HieaehT SaRT AT AT BT R

r-RNA

TS IR.TAT

Sub-units of ribosome

S HI 3T-3HEAl

t-RNA

Cledh AR . TAT

D | All options are correct




oY fasheld WET 8

Answer Key: B

Q6 How many pairs of sex-chromosomes are found in a human cell ?

01

01

02

02

22

22

23
D

23

Answer Key: A

Q7 Unlike the nervous system, the endocrine glands work for :

dTeT d H 3T 3d: TIET ATAAT HT 3T BIAT S -

As chemical signals for communication

T g T oe T 3 & 7

Helpful in for making the balance

Al STl & FETIh

For sending the message to the target organs

A& 3T Ao T2 Tl H

For changes in the metabolism of cell

D

RITRISHT H IUTTIY & Seelld g

Answer Key: C

Q8 The example of sex - linked inheritance in human beings is :

FeTs 3 FoleT Fgoreet deMeIaTal &7 3GTE0TR -

Haemophilia & colour blindness

SR o ug To1 guieerar

B | Only colour blindness




T&H a1 guiteerar

Only Haemophilia

OH grenfeforr

D

None of these

ST O s AT [Aevera T 8T

Answer Key: A

Q9 The wings & walking legs in insects are joined to :

Abdomen

3a¥

Thorax

q&T

Head

&

D

Gonads

Ol

Answer Key: B

Q10 The formation of shell in phylum - Mollusca takes place from :
HE-ATIEHRT H Had HI AT FhTH TIATTUT & TFdeT gIcT & -

Foot

qra

Head

318

Visceral-mass

-E',TTT

D

Mantle

[CIRY

Answer Key: D




Q11 The prime character of phylum-Annelida is :
T TACNIST T HY A&T0TE :

Metamerically segmented animal

A@udy 7 § AT s

Acoelomate

I

S

Absence of flame cells

SaTell IR T JeTarefeT

Radial symmetry

Pl s ammm

Answer Key: A

Q12 The following character is not associated with insects :

T FeTUT HIeT § TR AT &

Compound eye's

TG A

Eight walking legs

37TS Tl ETaT

Antennae

—

c

Jointed legs/Appendages

D

Hergerd TEY/34T

Answer Key: B

Q13 Which of the following is not an arachnid ?
AT d & Pl NFNg TR 2

Spider

Hehal

Ticks

e

C | Scorpion




foeef

~

D

Beetle

§aT/dree

Answer Key: D

Q14 Unlike osteichthyes, amphibians have :

e ASfoEl 3 A9l 3Tt A g g :

Ears

plel

Jaws

EEES

Circulatory system

AREEROT

D

Heart

gad

Answer Key: A

Q15 This is not the flying adaptation of birds :

IE YTETIT T 351 ATl 3Tefafelel w161 o:

Air sacs

arg HIm

Modified fore limbs

HATARET 397 8T

Pneumatic bones

arfarer 3rfeeat

D

Well developed urinary bladder

quT el aamer

Answer Key: D

Q16 Select the "Monotremes" from the following :

T & T "AAIEFT" &7 II hIfoT:




Spiny ant eater & Duck Bill Platypus

el A v TR caf

Opossum & Koala

3NYTHA UG RI3TeT

Badger & Skunk

Porcupine & Armadillo

Dl it oa srateett

Answer Key: A

Q17 The Utmost prime character of mammals is :

TRl T et @ AETOTY

Presence of mammary glands

a1 Ffar i 3ufeafa

Presence of hair in the form of exoskeleton

ST Ffehrel H FT H a1t oy 3ufeufa

Presence of external ear

e ST Y 3ufeafa

All options are correct

D oot et &

Answer Key: D

Q18 Which of the following system does not add or remove any type of substances from the blood :

A RTTaTTTFI AT RN N FRFIGTIT A I Faar g 3R A Fererarg

Digestive

el

Cardiovascular

Rt

Urino-genital

HA-SleleT
o

D | Respiratory




AHT

Answer Key: B

Q19 Endocrine glands secretes :

37T EFEY AT EFAT AT R

Tissue fluid

s gl

Digestive juice

ek 3d

Bile

Aea

Hormones

D[
A

Answer Key: D

Q20 The biological function of skeletal-system is :

FHBreg-dT FrAfaF FA§

Production of blood corpuscles

T&rd S OIRI31T T 3cUTeaT

Mineral storage

A e

Movement

aifa

All options are correct

b e AheT T 8 |

Answer Key: D

Q21 Urine formation is essential for the body because it helps :

F fwTor it frafa el 3 fow smaerae 8, arifes a8 Acg e g :

Removal of metabolic wastes

SUTIRAT 37afRrSel Y gy A H




For regulation's of salts

&TRT &Y THATAT weet #

For regulation's of pH

pH 1 o fiie e 3

D

All options are correct

g Rpea T & |

Answer Key: D

Q22 The basic features of Tendons & Ligaments are :

CTSIeTE U4 ollaH=CH T TR &T0T 8

They are jointed with bones

PESIER IR G ERE

Found in vertebrates

FATH H IR ST &

Presence of collagen

Fletatel sl 3UTEAf

D

All options are correct

g Qe T & |

Answer Key: D

Q23 Which component of blood fight against infection ?

IFd T HITT Teh GHhAUT T JSarg ?

Red blood corpuscles

EIGECGEINEIY

White blood corpuscles

2ad T&Fd FHivhIT

Platelets

S [ [R5 )

<

D

All options are correct

g Rpea T & |

Answer Key: B




Q24 In mammals, blood returning to the heart from the lungs in the :

TaTeTRAt & HHs & a9y g H ST arelT T&d dlledT § ¢

Right ventricle

arfga foerr

Right auricle

grfge 3ifeie

Left auricle

a1 ifeig

Left ventricle

D
CIRIRG IR

Answer Key: C

Q25 It is a balancing organ of animals:

el 3 et 378

Nematocyst

AACITaEC

Sporocyst

AURITAHT

Statocyst

Feeiffae

None of these

Pl oty a8 R ey 7 € |

Answer Key: C

Q26 Red blood cells are produced in
TS T 0TI T TAATOT Bl &

Spleen

el

Bone marrow

3152 Ao




D

Answer Key: B

Q27 African sleeping sicknees is transmited by
31fSeet forgT et HfelraT &

Butterfly

IGLEIN

Housefly

R A

Tsetse fly

or @y aEEr

Bed bug

D
YcHeT

Answer Key: C

Q28 When both the members are mutually benefited, this relationship is called :
S Gl HEET T IRETRH 1 &1, I Ig W Fhgellal g -

Neutralism

AL

Mutualism

BT FHIRT

Commensalism

FEHYSIAr

Parasitism

Dtmshfa?n

Answer Key: B

Q29 Shark liver oil is rich in :




QITeH T clol & 31 fAerar g :

Vitamin C

faerf@e &

Vitamin A

afaa v

Vitamin D

[ECIGGEL

D

Vitamin A,D and B,

Feaf@a v,

Answer Key: D

Q30 Poikilothermous animals are :

T FRR @I arer O g & :

Ectothermal

TFAHA

Endothermal

TSR

Homeothermal

Aifirirensa

D

Stenothermal

wEAH

Answer Key: A

Q31 Due to "Plasmodium", the increase in the size of erythrocyte is called :

"CATSTANTSTH" H HRUT, SRYUTATSE H 3MhR A Fieg Hhgalrell & -

Hypertrophy

JERRAL]

Hyperplasia

LRI

Neoplasia




IGEISTIER

Metaplasia

Dﬁm@ﬁm

Answer Key: A

Q32 Total mass of carbonic substances present in the ecosystem is called :

aIRTEUTAe o7 # 3uleUd Frafeieh qere S aquT AT Hgelrdl & -

Biomass

STHR

Biome

SH

Litter

e

Food

Daﬂsrrr

Answer Key: A

Q33 The first part of the small intestine is termed as :

BE HTH YAAFT R FEd &

Duodenum

IJgol

Ileum

sTore

Pancreas

IR

Glomerulus

DW

S

Answer Key: A

Q34 In the respiratory system, the small sacs in the lungs, where the exchange of gases takes place, is called :

QT o H HBST H Sl SIeT 1N g 8, 5761 o) T 3t 1 fafmzr ghar g, Fed 8-




Nephrons

CECILIN

C pe)

Alveoli

CURETR

S

Vocal cards

EALo3]

Glottis

D
qrer

Answer Key: B

Q35 The most oldest fossils of the living things, would be how many years old ?

ShfareT et 3 He IcTeT SHATIH oTaTstaT fehctel ISt oH &1 Hehel & ?

3.5 million

3.5 fAfoe

3.5 billion

3.5 faforgeT

4.5 billion

4.5 Sforasr

4.5 million

D
4.5 TR

Answer Key: B

Q36 Who evolved first of all, from the following ?
e 7 & foraer Ao Tger fashra gaim 2

Terrestrial plants & animals

YT qAEITI T oY

Prokaryotic cells

Tof e IR

Eukaryotic cells

D | Multicellular organisms




SEFRITRIRI Shaemy

Answer Key: B

Q37 From the genetically points of view, the prime cause for the existence of well developed population is :

31T 3 TSeHI0T & FIah AT STAHET 3 AT §ld FT - Tl FROUTE -

Adaption

3ol

DN

Founder effect

papsjie ol )

Cloning

Fellfear

All options are correct

D oot e 2

Answer Key: D

Q38 In what type of biochemical, the genetic informations are stored ?

a0 &R & JTTafRIeh =T FART gleil g 2

Proteins

haczs)

Lipids

adr

Nucleic acids

Tgerelleh 3FcT

Sugars

D v
QTFRIT

Answer Key: C

Q39 The function of t-RNA is :
t-RNA (&- 3IR.TAT) FI R & -

To be a part of protein synthesis

YEleT eI T fREaT gl




Carrying out the blue print of heredity

ARATITTY BT FRT T T et

Carrying out the amino acids to the functional ribosomes

FIATeT ASTAH doh AT 3Tl T dgoT T

D

All options are correct

ot AT T g

Answer Key: C

Q40 The controlling/Master macromolecule of the cell is :

RITRYRT AT T =Teh STEIUY/AEIIT R :

Chromosomal DNA

IURLEY S.UA.T.

RNA

3R.TA.T.

Glycine

TS HT

D

Haemoglobin

QEIECIIED]

Answer Key: A

Q41 What is the difference between ribose & deoxyribose sugars ?

TSI JAT FB3TFERISSIST 2THRT o e & aFm 37T &

Numbers of carbon atoms

ShTSleT 3TUT3T hT HEdT

Number of an oxygen atom

Teh 3fferdiTotat 3107

One is sugar & another is not

T AFRT & U G AET §

D

Both are the same molecules

alell T R H T8

Answer Key: B




Q42 The name of functional-NH, is :

Torameiiel NH, T § :

Amino

AT

Alcohol

Tcdhlge

Carboxylic acid

Fraferdifoe 3FaT

D

Aldehyde

NECRIES

Answer Key: A

Q43 Which one of the following is not a polymer ?

sﬂﬁﬁaﬁ"ﬁrwﬂﬁ%

Insulin

e

DNA

CEAGRY

Fatty acids

T 5ol

D

RNA

3IR.TAT.

Answer Key: C

Q44 The necessary function of malpighian body is :

Hordaft s &1 3TITF FRAE

Filter the blood & capture the filtrate from it

Tl BIeTeTT 9UT 388 €T 1 3rfHargor

Reabsorption of water from the blood

T A @ ATaAT T Gof: Iy




Breakdown of Toxins

HIGEILCACICACE AR IEGIT

Reabsorption of ions & nutrients

D ; ;
HTI=H U GISehT T oT: 37RO

Answer Key: A

Q45 Who controls the acvities of all others :

ST T pleT a1y T3 Fr Framat & IRag Har g

Thyroid gland

D IBDNECE B

Pituitary gland

Adrenal gland

EC KD

Hypothalamus

P | e

Answer Key: D

Q46 In which response, the pancreas increases the production of insulin ?

fopaehr  faifsham & 3eamery g foieT 3 Scurest &l deraraars :

On increase in body temperature

MR araATe 7 gfeg g

On decrease of glucose quantity in blood

el H Tofehlol T ATHT A glel T

Secretion of hormones by anterior pituitary gland

3131 91 Y @RI gTAfe T EATG0T

On increase of glucose quantity in blood

b T # To[ehlal T HATAT TG I

Answer Key: D

Q47 After the entrance of the sperm into an egg/ovum, it is important that vitelline layer should be separated
because :




YHTITH TS H A el H oG Ig HgeadquT & Toh AT 3708 & faearssT Tk 3191 81 Sy

Secretions of important hormones should be takes place

FEcaUT g T TATG0T &1 FaH

Fertilized egg should be implanted in the uterus

o 3108 Taa & Ty 7 3RIoT HY TH

Entrance of more than one sperms in the egg should be prevented

Th § SITET YSHIUL3T T IHUSH A &b ST

Attracts additional sperms towards the egg

P | e ot @ 3105 3 st a

Answer Key: C

Q48 How a mature zygote shows difference from a mature egg ?

Y T 9Ruera Foaeter T IRuea 3105 § Aieterar afiRid e :

More numbers of chromosomes in zygote

IHAS H T[0T AT T T&AT SI1eT

Smaller size of zygote

IAAS FI TR BT

Larger size of zygote

JIAAST T TR T3T gleAT

Presence of more than one cell in zygote

D

IAAST H Teh H ST HIRARI3N 1 SuEAfay

Answer Key: A

Q49 Which of the following is the right passage of "light" in your eye ?
SoTH T PITHT, 3T T 3G I " T T TG AT -

Lens, cornea, pupil, retina

Cornea, pupil, lens, retina

C | Cornea, lens, pupil, retina




Lens, pupil, cornea, retina

P s, caferer, st ¥

Answer Key: B

Q50 Which of the following groups is most essential for the functioning of an ecosystem ?

et 7 @ e Fog TRITATAS o T FRIETH W 3H fT 3cdd TR g

Producers

3cqlgeh

Producers & herbivores

3cUTGeh 3R QTRTERT

Producers, herbivores, carnivores & decomposers

3cUTceh, 2MRTERY, AR 3T Ages

Decomposers

Dﬁm

Answer Key: C

Q51 The first Eukaryotes were :
YA GH T A :

Fungi

$deh

Plants

FaEafa

Protists

e

Animals

P o

Answer Key: C

Q52 Frog, Salamander, Turtle & Water Snakes are :
e, HTHUST, HefT T TAT AL :




Zooplankon

oficeras

Nekton

Sercte

Neuston

g

a

Periphyton

I —

Answer Key: C

Q53 Rotifers, Copepods & Daphnia are :
AR, ST T SHANTE

Zooplankton

Toft ceraeh

Phytoplankton

Ulaeh Teldeh

Benthos

S

All options are correrct

Dl st e adr 2

Answer Key: A

Q54 The adaptations of oceanic, muddy, shore animals are :

e, Sefcell, IS 10Tl 3 3effeleT & -

Mucous secretion

oSH TG

Reduced sense organs

RIRCRCEAD

Pigmentation

TSTehdT

D | All options are correct




el fashed Wl &

Answer Key: D

Q55 The prime scavengers of the ecosystem are :

IR dF 3 7Ed AN §

Bacteria

SiraroT

P

Fungi

$hdeh

Protozoon

TersieT

All options are correct

Dl st e adr &

Answer Key: D

Q56 The adaptations of desert habitat animals are :

ALY AT alel 10T oH 3eJofoleT & :

Burrowing & nocturnal

[EECAILERESH

Hibernation

efra A TSsrarar

Insulation

FATeIhdT

S

Loss of pigmentation

D .
JUTERT T 3THTT

Answer Key: A

Q57 The causes of "Bhopal gas tragedy" was :
HIITeT 31 GEICHT ohT HIROT T :

Air pollution

arg g




Soil pollution

eT QT

Water pollution

ofel  qNUT

All options are correct

Dl oot e adr 2

Answer Key: A

Q58 What type of pollution caused by DDT ?
DDT (3181 H FROT vl R HT qUUTEIT & -

Air

ary

S

Air & Water

qrg AT ofel

Air & Soil

g A

Soil, Air & Water

D

#Hel, Ay Ul STl

Answer Key: D

Q59 What type of cancer occurs due to the ultraviolet radiations ?

Jegranee TAfeon & fhd IR 3T der AT 8T STAT ¢ 2

Skin

cadr

Mouth

Bl
He

P

Lungs

RiEEl

Liver

DI
SE

C

Answer Key: A




Q60 The main indicator of water pollution is :

STeT- GNOT T HET FAh ¢ :

E.coli

S. IS

Cholera vibrio

e fafsrat

Salmonella typhii

ArelAlTer <sith

D

All options are correct

oY fasheld WET 8

Answer Key: D

Q61 Due to the flow of domestic & agricultural effluents, the quantity of the following is increased in water :

ER{UE Y YTRAVCT H agTa 3 HROT STel H o<1 T AT TEcdT & -

Sulphate

Phosphorous

HIEHRY

D

All options are correct

iy Frere el &

Answer Key: D

Q62 This is not a source of air pollutions:

T AR GO HT E 181 & -

Combustion process

Ggel A

Forestation/forest-development

FAIRIOT/aA-I R




Uses/applications of solvents

IECIREICIICl)

Industrial manufacturing process

T S e——

Answer Key: B

Q63 "World Environment Day" is celebrated on :

"faerg gaTaRoT feaa AT ST g

28 February

28 TRaT

05 June

05 T

07 August

07 3ITET

10 April

D
10 31fer

Answer Key: B

Q64 At each level of food chain, an increase in quantity of pollutants is called :

T AT Uh TR W, Ve T AT H Jiee Hhgellal g :

Biomagnification

SHfaeh gedretor

Biodegradation

Sifdeh wgfelehioT

Bioaccumulation

Sfas T

Bioconcentration

Diﬁ .

Answer Key: A

Q65 The main causes of wild life extinction is :




gog 1ol &1 faqfea &1 q@HROTE :

Hunting

PR

Deforestation

CGICIKGIE

Population explosion

D

Scarecity of food

HraTeT S HAT

Answer Key: B

Q66 The first national park of India is :

A T Tgell TSI I

Kanha

Eor)

Jim-corbet

ST

Periyar

IRIR

D

Bandipur

ST

LN

Answer Key: B

Q67 The "Gir National Park" is well known for :

"R ITSERT ITH" H TIT AT ST &

Tiger

ETIY

Asiatic lion

FoaT IR

Panther




g3

Musk deer

D

HER-T@TA

Answer Key: B

Q68 Now it is exinct from India :
HRA H 379 e fae[ecT 81 g1 & -

Snow leopard

o

Genda (Rhinoceros)

ST (SATBRTE)

Wolf

afsar

Cheetah

D
Aar

Answer Key: D

Q69 It is not the National Park of Madhya Pradesh province :
Tg ALAT G T T AT 36Tl oAgl & -

Kanha

FIogT

Periyar

CIFTIEY

Panna

Madhav

D
AT

Answer Key: B

Q70 This is not an endangered species in India :

R H Ig HhedTd/TheTesT ST AAEI & :




Genda (Rhinoceros)

ST (ASATBRTE)

Godovan (The great Indian Bustard)

MGt (&7 U3 303 aTe3)

Cheetal

BIGC

Python

D
K G IR

Answer Key: C

Q71 This insect is not pathogenic for human beings:

I T AT H forw IeTaTes 8l & :

House fly

PRCIEERC])

Female anopheles mosquito

HIET TATTh foreT AT

Tsetse fly

HeHr Tt

Butterfly

Pl

Answer Key: D

Q72 This is not a beneficial insect :

Hony-bee

FAAFET

S

Lady bird beetle

EECERIS

Lac-insect

g Fie

D | Bed-bug




YcHel

Answer Key: D

Q73 This insect is responsible for the malarial disease :

Tg 1T HARAT T & SeeRarAT & -

Female culex mosquito

ATET FFIFH HToR

Female Anopheles mosquito

HIET TATTh foreT AT

Beetle

$]3T 3727 HaT

sand - fly

 E——

Answer Key: B

Q74 This is a non-poisonous snake of Indian nation:

AT U T Ig AT T :

Rat-snake

T-&ih

Cobra

FISRT

Krait

EiS

Viper

D
CIERES

Answer Key: A

Q75 The Venom of this snake is neurotoxic :

30 99 1 fay =gt faae gidr g -

Russel viper

T AN




Rat snake

TE &S

Cobra

FIT

Python

D
RIS

Answer Key: C

Q76 The quantity of Oxygen in atmosphere is :
arg AUSH A JTeFAISTeT hT AT E:

21%

21%

30%

30%

40%

40%

73%

D
73%

Answer Key: A

Q77 The gastric juice is :

TR AT :

Acidic

FAT

Alkaline

&R

Neutral

JerEeT

Partial Alkaline

e P NE—

Answer Key: A




Q78 The structural unit of kidney is :

Jefeh T HTAATCHD SIS § :

Loop of Henle

a‘;q v Ere

Nephron

.

Nephridium

EEAIELE

Pyramid

Pl ams

Answer Key: B

Q79 This is absent in lymph
g oI Aol H IARIT I & -

Leucocyte

FIPIAEE

Plasma

Erythrocyte

SRYATST

None of these

e T Ty —

Answer Key: C

Q80 Rh factor is related to :
Rh &R § FEATE :

Rhesus monkey

o s

Drosophila

Srafthelr

C |Rat




e

D

Human beings

HlAT

Answer Key: A

Q81 Respiration is controlled by :

eqae foraT &1 fAgFoT Hegnrr gar g

CNS

. 0.1,

SNS

PNS

CIRG RS

D

ANS

T.WA.0d.

Answer Key: A

Q82 Covering of the heart is :

TESITAROTE

Pericardium

IRFIETH

Peritoneum

AR TH

Pleural membrane

Colel Seoll

D

Visceral membrane

aate el

Answer Key: A

Q83 The metal related to Haemoglobin is :




D

Fe

Answer Key: D

Q84 The respiration in tadpole larva of frog takes place by :
AGH 3 C3UIe T H THT BT @ -

Skin

el

Gills

ITTHST

Lungs

RSt

Caudal/Tail fin

D
9= el

S

Answer Key: B

Q85 Who secretes the Acetyl Choline ?
THIETSd hifole Pl i TATAT HIAT 67

Pituitary gland

g afy

SNS

PNS

). 0.0,

None of these

ST U FIS el 8T




Answer Key: C

Q86 Male hormome is :

T EAMTE

Vassopressin

Jarftaa

FSH

Glucagon

ToIFRITeT

a

Testosterone

Dl cafeetm

Answer Key: D

Q87 Extra Embryonic membranes found in mammals are :

FerETAT 3 3T ol sifeorit TS e d

Amnion

THRA3NT

Chorion

HIRITA

Allantois

Tolecisd

All options are correct

Dl oot e adr &

Answer Key: D

Q88 In which, water regulation takes place by contractile vacuole :

fohest Agfa=Teier THYTT SR STl HJ ool BT & -

Amoeba

e

B | Euglena




pPECIGHE

S

Opalina

CICCIEGI

All options are correct

o PSS

Answer Key: D

Q89 The number of essential amino acids in living organisms is :

Foirar & 3TasTeh 3T 37cll HT &ATE

15

15

20

20

22

22

08

D
08

Answer Key: B

Q90 Eukaryotic chromosome consists of :

A ek UREF A A B :

DNA+Protein

ATAT + T

DNA+RNA

A TAU. + JR.TA. T,

RNA-+Protein

AR UAT + T

Only DNA

b AH S Ta T

Answer Key: A

Q91 The formation of messenger RNA (m-RNA) from DNA is called :




3. UA.U. ¥ TERAATEH 3TR.TA.T. (m-RNA) FT fAATOT Fgarar g

Translation

[ACRs G

Transformation

STl

Transduction

FESEERID)

Transcription

D

Sl=afsheers

Answer Key: D

Q92 Male human being allosome is :
AT H TN EHEIT & -

XX

XX

XY

XY

X0

X0

YO

D
YO

Answer Key: B

Q93 This is used in fisheries :
Afeaeh! # g8 3UATgIdT o -

Seine-net

HA-STel

Trawl-net

TTel-STel

Gill-net

CCECIC

D | All options are correct




oY fasheld WET 8

Answer Key: D

Q94 Out of the following, which animal is true fish :
A @ laar o qraafds Ao @

Cuttle fish

Feo HiT

Star fish

arT #HieT

silver fish

Jeaw Her

dog fish

D

gfedT #HreT

Answer Key: D

Q95 The number of zoogeographical realms is :

roft sitenfores aResal fr aeary

05

05

06

06

04

04

07

D

07

Answer Key: B

Q96 In which realms "Giraffe" is found :
SR fore aRAse A g STaT g 2

Oriental

MR

B | Australian




freeforae

X

Ethiopian

HBRIIEpE]

D

Nearctic

3R

Answer Key: C

Q97 "Vermicompost" is related to which animal ?

frg 1ol @ "gHfRFIEe GEfa g 2

Leech

Eicy

Ascaris

TEH 8

Earthworm

a3

S

D

Cockroach

e

Answer Key: C

QY8 Asiatic Lion's habitat is :

TR WIA AT G

Nearctic-Neotropical realms

3T - A3neifee aRuse

Palaearctic-Nearctic realms

gforsmaTes -fA3mdies aRAsa

Oriental-Ethiopian realms

3HiRGece - sRATRT aRASe

D

Australian-Palaearctic realms

e forae - aforsmaies aRese

Answer Key: C




Q99 Indian elephant is found in this realm :

AR greft forw RS & 9rar Srar g2

Oriental

3fRGeee

Ethiopian

SR

Australian

Bl irzarpr

Nearctic

Dﬁmﬁﬁa

Answer Key: A

Q100 How many pairs of wings are found in Cockroach ?

IR A el SIS @ I & 2

02

02

01

01

03

03

04

D

04

Answer Key: A

Q101 Body of the Frog is covered with :
A T AR BTG BT s :

Scales

qeh

Feathers

g

Hair




None of these

e [EE N N—

Answer Key: D

Q102 The Sweat glands are found in :
g TR SAA IS AT &

Amphibians

SHII

Reptiles

N

C

Birds

aferat

Mammals

D g

Answer Key: D

Q103 Habitat of Pangolin (scaly ant eater) is :
Janfore (TeHelte $eX) AT I TATH &

River

B

Forest

D

Answer Key: B

Q104 In which animal "cilia" occurs?

g 1oft & gegarer (Fferm) qT ST § 2

A | Amoeba




AT

Opalina

K ICCIEDI

Euglena

B ECIGI

a

Leishmania

[

Answer Key: B

Q105 This is not an "endoparasite" of human being :

g AT T "3d: Woid" JAgi &

Entamoeba

Tee3THET

Plasmodium

IESIR I

Fasciola

HR3 e

Ascaris

Dﬁﬁmﬁq

Answer Key: C

Q106 This is also known as "suicide bags" :
P! "TcHLTAT Tl H T H Y JAT AT & -

Lipochondria

ferTfega

Peroxisome

qR3iTFda

Lysosomes

GIERIGIER]

Centrosome

AR 1T




Answer Key: C

Q107 In which of the following "Neoteny" does not persists ?
e 7 & foraa "RRsuTar w7gl a1$ ST g 2

Necturus

AFeRG

o

Proteus

Yesra

Alytes

verrsied

Axolotl

DUEFH’IW

Answer Key: C

Q108 By which name, the "voice-box" in birds is called :
"I I IfSAT H fohd A1 § AT AT R 2

Syrinx

AaRFw

Pharynx

THAT

Larynx

aReT

Lungs

Dm

Answer Key: A

Q109 Polyp & Medusa stage's are found in :
I AT ASTET IaEUTC AT g -

Sycon

A o
ATShioT

B | Obelia




ICIIGE

Euspongia

.

o

Venus flower of basket

| rrer o o sfrer

Answer Key: B

Q110 The "Secondary host" of Taenia solium is :
Sferar aferaa &1 "gfafaaes dve g :

Sheep

e

Man

Pig

3

Snail

D grer

Answer Key: C

Q111 Which hormone regulates metamorphosis of Rana tigrina (common Indian frog)?

HIAAT gTATT JAT FEIAT (AT HRAT Heoh) H HIITAROT & AT AT g ?

Adrenaline

gl

X

Prolactin

\CIETG]

Thyroxine

SIEsuCeC)

Gastrin

Diﬁ@?r

Answer Key: C




Q112 Where the "Australopithecus" evolved ?
"WﬁW'wﬁmaﬁwgaﬂ?

Asia

uRE)

America

AR

Australia

o

X

Africa

Dawﬁa:r

Answer Key: D

Q113 Primitive type of palcenta in mammals is referred as :

FATRAT A "3Nfed FRH 3R T 3ma g

Epitheliochorial Placenta

3Yhell-oT g 37937

Syndesmochorial Placenta

Wﬁﬁm

Endotheliochorial Placenta

37eT: T S 3R

Haemo-endothelial Placenta

b HO-37cT; TANT 3TRT

Answer Key: A

Q114 How many chambers are found in the heart of frog ?
Hooh HgeT H fhdal T IIU AT & 2

02

02

03

03

04

04




01

D
01

Answer Key: B

Q115 The type of "Cleavage" in frog is :
e H "TageleT" & R :

Superficial

g3 & 3rar Hee!

Meroblastic

3AHS

Holoblastic-unequal

qUTeTSH- 31T

Holoblastic-Equal

b qUTHST-HHATT

Answer Key: D

Q116 The factors affecting islands animals are :

gy i HeRe sfadsias:

Degree of isolation (distance)

3fefaTTa sy AT (53

Length of isolation (time)

TGN T GIEcd (FH)

Size of island

&drg T aiAToT

All options are correct

b e AheT T 8 |

Answer Key: D

Q117 The author of the book "origin of species by Natural selection” is :
" IR e GERT STl Y Scdfed” T H @ g :

A | Herbert Spencer




EEC T

Alfred russel Wallace

3ToTHS T arel g

Charls Darwin

Ted STTdeT

Gregor John Mendel

b AT FAleT AT

Answer Key: C

Q118 The following are used in "Miller-Urey's experiments :
"THOR-RNHA AT # o1 sTaaATe fhar g

Hydrogen, Methane, Ammonia, Water Vapour

gIsatold, HIdeT, AT, STof arsq

Oxygen, Hydrogen, Methane, Ammonia

3T, gT83IeT, Hd, 3T

Oxygen, Nitrogen, Hydrogen, Methane

3T, ATSerSTe, TgIete, HIdeT

Water Vapour, Oxygen, Hydrogen, Methane

b STl TSy, 3TFHTSTT, §TSsTote, HdeT

Answer Key: A

Q119 The characteristics of ionic pump is :
3 JF T HTIOTE

Found in all animals

T 1 ey

It requires energy

S Foll T TRI 8lcT &

Essential for life

Shad H T ST g

All options are correct

el fasheT wer g |




Answer Key: D

Q120 In the reference of stenohaline fish & Saline Water, the following statement is true :

TEARATST AS AT UR I H Teaf &7, T saa o §

Tolerate it

e A &

Can't tolerate

el A6 P §

Do not show any effect

Pl sR & AT SRTAGT cr g

D

None of these

ST O s [Aeela Ter 81

Answer Key: B

Q121 It is not a type of "Pheromones" :

I "THUAE" T SR AL & -

Alarm

37T

Food trail

U8 el

o~

Sex

qFg

D

Locomotion

Telel

Answer Key: D

Q122 "Euryhaline animal" found in :

W of" qRIT SATAT &

Fresh water

o g 7

Brackish water




sfreraEy &

Salty water/oceanic water

AU STel HHALT STel H

All option is correct

o PO

Answer Key: D

Q123 Identify the "Neuro-transmitters" :

"R HHICH" T gy :

Acetylcholine

TTAeTS e Hlellel

Seritonin

ARl

Dopamine

SIITHTST

All option are correct

D

Tt APeT TET E

Answer Key: D

Q124 A typical "Neuron" possesses :

Cyton

FIPT-HT

Dendrite

IMECT)

Axon

37e7-cicf/dTIehTaT

All option are correct

Dl st R adr 2

Answer Key: D




Q125 This is a type of Neuron/nerve cell :
I ~GA/A AT FIVHT R PR G :

Unipolar

w%aﬁtr‘

Bipolar

AELEIE]

~ ]

Multipolar

g

All option are correct

o PO

Answer Key: D

Q126 In which form, some amount of the glucose is stored in the animal body :

roft QI 3 Tefist 1 3 AT fRE w9 F FufRa a1

Starch

e

Amino- acid

AT

Nucleic acid

g fFoleh 31Fel

Glycogen

Dwnsﬁa?r

Answer Key: D

Q127 This is not a fat/lipid soluble vitamin :
g I8 A geloTeiier e g g :

Vitamin "A"

ReereT A"

Vitamin "C"

Rieifer 'C

C | Vitamin "D"




faerfdeT "D

Vitamin "E"

D

Answer Key: B

Q128 This is not a type of RNA :
IE IRUAT. HT PR AGI &

m-RNA

m-RNA

t-RNA

t-RNA

r-RNA

r-RNA

p-RNA

D

p-RNA

Answer Key: D

Q129 A normal cell shrinks in :
T AIATY I g0 BT e :

Hypertonic solution

STAORIERT grel

Isotonic solution

TH G grel

Hypotonic solution

39 YRTER gl

None of these

D

$TH W IS Taoherd w1et

Answer Key: A

Q130 How many "Nucleus" (Nuclei) persists in Paramecium caudatum :

JATITA s A fordsl g g1 &

A |01




01

02

02

03

03

04

D

04

Answer Key: B

Q131 In how many classes phylum-Porifera is classified :

g IR &1 geffertor fohaey gaif & fRar srar g 2

02

02

03

03

05

05

04

D

04

Answer Key: B

Q132 Which one of these found in Australia ?
SoTH A ShieT ITEC ol H IRAT SATAT & -

Elephant

grelr

Lion

MW

Kangaroo

FHME

Panther

D

dgam

Answer Key: C




Q133 The habital of Uromastix hardwickii is :
TUATECHH ETSTaHTS T I TUF R -

Fresh water river

e g1y iy Ay

Pond

SEIC)

Dense forest

el STl

Desert

o N —

Answer Key: D

Q134 Identify endocrine glands from the following :
T & @ 3ia:E1dr 9 fr ggar A

Salivary gland

AR AT

Sweat gland

e iy

Sebaceous gland

IJaTHT I

Islets of langerhans

e R ar I

Answer Key: D

Q135 Its deficiency causes "Scurvy" :
foRaehr et & " Tohfa AT BT & -

Biotin

CIR TG

Ascorbic acid

TEhifae 31T

C | Retinol




et

Todine

Dsmfr%;r

Answer Key: B

Q136 Identity "Insectivorous" animal :

"Freg o7 & gganfav

Cow

ImT

Rabbit

ECETI K]

Frog (Indian)

Ao (FRA)

Horse

DEﬂgT

Answer Key: C

Q137 In which animal open blood circulatory system occurs :

fhg O A G R T T TRERA T I-AT AT & -

Periplaneta americana

QicesieT AT

Rana tigrina

CIRTADCI

Columba livia

FrereaT fafaar

Homo sapiens

D

A AT

Answer Key: A

Q138 How many Chambers are found in the heart of Oryctolagus cunniculus ?

REFTIT FYfacFerd 3 ged # fohcel FET/ANHA g & 2




01

01

02

02

03

03

04

D

04

Answer Key: D

Q139 Who secretes the hormone "Aldosterone'?

ETATT "TeaEe T &l TG Sl T § ?

Adrenal Medulla

Hypothalamus

gy

Parathyroid

EREIENES]

Adrenal cortex

Dﬂ@maﬂm

Answer Key: D

Q140 "Androgen" hormone is secreted by :
"Tegratel" gTAfe fhaa garT E1fad faram Srar g

Interstitial cells

TR HITRARI3NT

Sertoli cells

Tl SITRABIIT

Pancreatic cells ( o + ﬁ)

377aTeRlY FIFABTIN (o2 + B)

Hypothalamus

HERINEE L]




Answer Key: A

Q141 "Melatonin" Hormone is secreted by :
"R AT grAfe 3 garT Erfad frar san g

Pancreas

IR

Liver

SE

C

Pineal

ClIGEC]

Heart

D
gad

Answer Key: C

Q142 This is the largest digestive gland of the body :
g R T g8 931 qraF G g

Liver

SE

C

Pancreas

IR

Gall bladder

ERGIAE]

None of these

e [EE S N—

Answer Key: A

Q143 Protiens are "polymers" of :
T e § -

Fatty acids

T 3FT

B | Amino acids




THEAT 35T

Glycerol

[EGESRE]

All option are correct

o PSS

Answer Key: B

Q144 This "Tiger-Project” is not situated in Madhya Pradesh province :
g "1 GRS AT e i & Rua Agh Y

kanha

FIogT

Pench

U

Sariska

aEnr

Bandhavgarh

D

dleddle

Answer Key: C

Q145 Select the "endangered" reptile from the following :
foeT 1 O Hercarea/deerdest a{gT &1 T3+ HIfAT

Gharial

gfsarer

Ajgar (python)

TSI (UTIYeT)

Starred tortoise

AT HAT

Cobra

D
ofTdT

Answer Key: A




Q146 For blood clotting essential is :
TFd TateeT o ol 3Maee g

Water

alel

Oxygen

3frrdisteT

Platelets

S [ [R5 )

<

Carbohydrates

Dm‘@@v

Answer Key: C

Q147 "Trypsin" is secreted by :
"feodier Tfaa giar e

Duodenum

TguT &

Liver

THTH

Pancreas

IR

Stomach

D
AR O

Answer Key: C

Q148 During Urine Formation, what happens in nephron ?

T ROT Y R 3 el e 3 T AR QT 2

Ultrafiltration

RfaTdesT

Secretion

EATGUT

C | Diffusion




RSl

D

Osmoregulation

WREYoT [T

Answer Key: A

Q149 Mitochondria are basically related to :

HATSCIehI -5 dT TR §9 W HlT § :

Formation of ATP

ATP faAoT

Production of protien

I 3cureeT

Formation of glucose

Tofehrat T ATOT

D

Formation of starch

Ter fAaET

Answer Key: A

Q150 The smallest functional unit of heredity is :

3TATTRIT T GEHTH ThaTcHS SHIS 8 :

Centromere

T IHRR

X

Chromomere

HIAARRT

Chromonema

HrAfaar

D

Gene

Sitet

Answer Key: D




